Handout for Adequacy of Solutions — Chapter 04.07

SET ONE

The solution to

12 x| [ 4

12 3999 y| |7.999

[ x 3 2

]

Make a small change in the right hand side vector of the equations
1 2 x| [4.001

12 3.999||y| [7.998

[ x =399

y] | 4.000

Make a small change in the coefficient matrix of the equations
1.001 2.001| /x| | 4

2.001 3.998| y| [7.999

x] [ 3.994
y| 10.001388




SET TWO

The solution to
1 2|[x] [4
2 3||y] |7
[ x B 2
]
Make a small change in the right hand side vector of the equations.
1 2|{x B 4.001

2 3|yl |7.001

x| 1.999

y| |1.001
Make a small change in the coefficient matrix of the equations.
1.001 2.001|| x B 4

2.001 3.001{|y| |7

x| 2.003

y| 10.997




